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Beta cuts for detector O:
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Beta cuts for detector 1:

p_Beta_1_pi_plus
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e with mass selection
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Gauss: Detector Resolution
Landau: dE/dx
---> Convolution of Landau and Gauss
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dE/dx [a.u]

p-slice 0 7 particle: k_plus

RMS = 3.565 +0.020
£ 600 frac_bkg1 = 0.5860 + 0.0049 029
3 ml = 6.5000 = 0.0041
O 500 ﬁ mi_bkg1 = 2.10000 + 0.00033

sg= 1.425 +0.019
sg_bkg1 = 0.3900 +0.0012

sl = 0.875 +0.026
sl_bkg1 = 0.1521 + 0.0044

P —
B
= =1

300

2.0

ETRETE
dEdX [a.u

.
'
. L] 1
: e .
L] M H
" L = LT
'
' Fi e
. 5 Py
! L] N bt ] L] ]
. i SER T ' § " e ) T Rl M I T S e
Ty m B e il e w e
" - L e S TS S PR T R TR TR I R |
d » . i . r— ., e e R
] g 0 E e el T . s i R —
oAl cate N0 R T T R T — ¥ “ = T e e Ty T 8 o® .
......................
o e [ {l L y o . L n-
E . e e e e R

L | L 0

2
.
wm

500 1000 1500
Momentum [MeV/c]



dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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frac_bkg1 = 0.000000 + 0.000028

ml = 4.367 +0.010
ml_bkg1 = 0.0

sg = 0.6500 = 0.0056
sg_bkg1l = 0.0

sl = 0.4927 +0.0063

RMS = 1.928 + 0.010

014

T sl_bkg1 = 0.0
’

o

5

00 — 500 1000 1500

Momentum [MeV/c]

0




dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]

p-slice_0 24 particle: k_plus
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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dE/dx [a.u]
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200__ sg = 0.4150 + 0.0040
- sg_bkgl = 0.0
- sl = 0.1367 +0.0041
1501 |_bkg1 = 0.0
20— : s Ll
- 100/
15— -
= 50—
10— : el
- % 2 4 6 8 10 12 i1
o dEdX [a.u.]
5—
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0 500 1000 1500
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dE/dx [a.u]

p-slice_0_ 36 particle: k_plus
RMS = 0.904 +0.012

016

% 240:— frac_bkg1 = 0.00000 + 0.00016
3 2201 ml = 2.06000 + 0.00070
(3 200 ml_bkg1 = 0.0
180 sg = 0.395 +0.017
160 sg_bkg1 = 0.0
140 + sl = 0.1234 +0.0047
_ 100
- 80/
15— 60—
B 40—
10— -
- 0 | R Y N NN S
B 0 D 10 12 14
B dEdX [a.u.]
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0_ .,_“ ":::::: |
0 500 1000 1500
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dE/dx [a.u]

p-slice_0 37 particle: k_plus
RMS = 0.858 + 0.012

017

% - frac_bkg1 = 0.00000 + 0.00021
8 160~ | ml = 2.150 +0.030
O 140:_ ' ml_bkg1 = 0.0
- sg = 0.4350 +0.0041
120— sg_bkg1l = 0.0
1001 sl = 0.1289 + 0.0056
20 —— - sl_bkg1 = 0.0
: 80_—
B 60—
15— -
— 40—
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10— y
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B 0 2 10 12 14
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dE/dx [a.u]

p-slice_0 38 particle: k_plus

RMS = 0.794 +0.019

frac_bkg1 = 0.00000 + 0.00055 026

[2 ~
C -
8 60 ml = 2.0750 +0.0053
O _ ml_bkg1 = 0.0
503_ sg = 0.432 +0.033
. sg_bkg1l = 0.0
40— sl = 0.1142 £ 0.0073
20 . sl_bkg1 = 0.0
B 30—
15— 20/
: 10—
10— E | | |
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dE/dx [a.u]

Gauss: Detector Resolution
Landau: dE/dx
---> Convolution of Landau and Gauss
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dE/dx [a.u]

20

15

10

p-slice_1_7 particle: k_plus
RMS = 3.298 +0.013
frac_bkg1 = 0.6941 + 0.0036 019

ml = 6.4500 = 0.0017

ml_bkg1 = 1.8009 + 0.0052

sg = 1.4750 £ 0.0077

sg_bkg1 = 0.4731 + 0.0044

sl = 0.841 £0.023

sl_bkg1 = 0.000000 + 0.000019

4 6 8 10 12 14 16 18 20

dEdX [a.u]

500 1000 ~ 1500 °
Momentum [MeV/c]



dE/dx [a.u]

20 = T

15

10—

250

200

150

100

p-slice_1_8 particle: k_plus

RMS = 2.957 +0.017

frac_bkg1 = 0.0734 + 0.0028
ml = 5.5000 + 0.0029
ml_bkg1 = 2.047 +0.020

sg = 1.05000 + 0.00094
sg_bkg1 = 0.113 +0.023

sl = 0.54500 =+ 0.00031
sl_bkg1 = 0.3000 + 0.0094
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| \ o
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50

0

1500
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dE/dx [a.u]

20

15

10

Counts

450
400
350
300
250
200
150
100

p-slice_1_9 particle: k_plus
RMS = 2.407 +0.013

frac_bkg1 = 0.000000 + 0.000028
ml = 4.9400 * 0.0045

ml_bkg1 = 0.0

sg = 0.893 +0.018

sg_bkg1 = 0.0

sl = 0.529 +0.011

sl_bkg1 = 0.0
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dE/dx [a.u]

400

300

200

100

p-slice_1_10 particle: k_plus
RMS = 1.9841 + 0.0099

frac_bkg1 = 0.00319 + 0.00056
mil = 4.343 +0.011

ml_bkg1 = 0.0

sg = 0.638 +0.039

sg_bkg1l = 0.0

sl = 0.545 +0.014

sl_bkg1 = 0.0
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dE/dx [a.u]

p-slice_1_11 particle: k_plus
RMS = 1.8069 + 0.0087
frac_bkg1 = 0.000000 +0.000023 545

ml = 3.95000 + 0.00068
ml_bkg1 = 0.0

sg = 0.6850 +0.0011
sg_bkg1 = 0.0

sl = 0.4049 + 0.0051
sl_bkg1 = 0.0

500 1000 “ 1500 O
Momentum [MeV/c]



dE/dx [a.u]

p-slice_1_12 particle: k_plus

RMS = 1.6423 + 0.0079

frac_bkg1 = 0.000000 +0.000023 544
ml = 3.55000 = 0.00024
ml_bkg1 = 0.0

sg = 0.66500 + 0.00048
sg_bkg1l = 0.0

sl = 0.3469 * 0.0042
sl_bkg1 = 0.0

S e
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500
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dE/dx [a.u]

p-slice_1_13 particle: k_plus

frac_bkg1 = 0.000000 +0.000023
ml = 3.36000 *+ 0.00058

ml_bkg1 = 0.0

sg = 0.545 £ 0.011

sg_bkg1l = 0.0

sl = 0.3281 £+ 0.0061

sl_bkg1 = 0.0

500

RMS = 1.5112 + 0.0073

010

0

1000 1500

Momentum [MeV/c]




dE/dx [a.u]

p-slice_1 14 particle: k_plus

RMS = 1.3990 + 0.0069
900 frac_bkg1 = 0.000000 +0.000024 5 n097
800— ml = 3.06000 + 0.00019
- ml_bkg1 = 0.0 T
700:— sg = 0.44500 + 0.00044
600 sg_bkg1 = 0.0
- sl = 0.36000 + 0.00015
500 sl_bkg1 = 0.0
20— g 400
. et b T 300:_
15— 200:—
- 100—
B 0: . L ,
10— 0 6 8 10 12 14
B s i i = il T dEdX [a'u']
£ 50
0 — 34 5% g '5| '1611'12|' 4'1.]61.?181";:‘!'0' 2I34-230 3132,33 34 35 36 37 38 39 | 0
0 500 1000 1500
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dE/dx [a.u]

20

15

10

p-slice_1_15 particle: k_plus
RMS = 1.2958 + 0.0067

frac_bkg1 = 0.000000 +0.000026 j ngog
ml = 3.04000 = 0.00062
ml_bkg1 = 0.0

sg = 0.46000 + 0.00050
sg_bkg1 = 0.0

sl = 0.2836 +0.0037
sl_bkg1 = 0.0
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50

500
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dE/dx [a.u]

20

15

10

p-slice_1_16 particle: k_plus
RMS = 1.2162 + 0.0066

mil = 2.80000 * 0.00022
ml_bkg1 = 0.0
sg = 0.56500 + 0.00028
sg_bkg1l = 0.0
sl = 0.24000 * 0.00035
sl_bkg1 = 0.0

' 4 5 8 10 12 14
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500 1000 “ 1500 O
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dE/dx [a.u]

p-slice_1_17 particle: k_plus
RMS = 1.1847 +0.0069
frac_bkg1 = 0.00072 + 0.00031 D.0098

ml = 2.6559 * 0.0021
ml_bkg1 = 0.0
sg = 0.4567 = 0.0014
sg_bkg1l = 0.0
sl = 0.3055 = 0.0080
sl_bkg1 = 0.0

14

dEdX [a.u.]

500 1000 ~ 1500 °
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dE/dx [a.u]

20

15

10

p-slice_1_18 particle: k_plus
RMS = 1.1334 +0.0070
frac_bkg1 = 0.000000 +0.000038 g9

ml = 2.66000 = 0.00098
ml_bkg1 = 0.0

sg= 0.474 £0.012
sg_bkg1l = 0.0

sl = 0.2061 + 0.0062
sl_bkg1 = 0.0
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12 14
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dE/dx [a.u]

p-slice_1_19 particle: k_plus
RMS = 1.1119 £ 0.0074

600_— frac_bkg1 = 0.000000 + 0.000045 011
B ml = 2.36000 + 0.00014
500 — ml_bkg1 = 0.0
- sg = 0.46000 + 0.00056
: sl = 0.22000 + 0.00033
- | bkgl = 0.
300 sl_bkg 0.0
20 CEREST -
B ST 200 —
15— -
5 - 100_—
- N [T
10— % 12 14
: s i i = il T dEdX [a'u']
e 50
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dE/dx [a.u]

20

15

10

p-slice_1_20 particle: k_plus
RMS = 1.0829 +0.0080
frac_bkg1 = 0.000000 +0.000054 14

ml = 2.36000 + 0.00021
ml_bkg1 = 0.0

sg = 0.48000 + 0.00044
sg_bkg1l = 0.0

sl = 0.2171 £ 0.0029
sl_bkg1 = 0.0

0 2 4 6 8 10 12 14

dEdX [a.u.]

500 1000 ~ 1500 O
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dE/dx [a.u]

20

15

10

p-slice_1_21 particle: k_plus
RMS = 1.0639 +0.0085
frac_bkg1 = 0.000000 +0.000063 4o

mil = 2.36000 * 0.00041
ml_bkg1 = 0.0

sg = 0.375 £0.011
sg_bkg1l = 0.0

sl = 0.2241 + 0.0045
sl_bkg1 = 0.0
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dE/dx [a.u]

p-slice_1_22 particle: k_plus
RMS = 1.0443 + 0.0093

400:— frac_bkg1 = 0.000000 + 0.000079 013
350 ml = 2.42500 + 0.00074
- ml_bkg1 = 0.0
300:— sg = 0.50000 = 0.00070
- sg_bkg1 = 0.0
250 sl = 0.1796 + 0.0057
200 sl_bkg1 = 0.0
20— mmmr T =
B Lt T 150 —
— 100—
1 5 T -
| 50—
B 0: T
10— 0 6 8 10 12 14
: s i i = il T dEdX [a.u.]
5__ 50
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dE/dx [a.u]

20

15

10

p-sli'ée_1‘_2_3 paﬁicl:le:' k__blus

RMS = 0.9944 + 0.0099

frac_bkg1 = 0.000000 +0.000098 14
ml = 2.26000 + 0.00058
ml_bkg1 = 0.0

sg = 0.377 £ 0.016
sg_bkg1 = 0.0

sl = 0.2002 + 0.0063
sl_bkg1 = 0.0
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dE/dx [a.u]

20

15

10

p-slice_1 24 particle: kK_plus
RMS = 0.979 +0.011
frac_bkg1 = 0.00000 + 0.00012 015

ml = 2.16000 + 0.00028
ml_bkg1 = 0.0

sg = 0.377 £ 0.030
sg_bkg1 = 0.0

sl= 0.174 £0.013
sl_bkg1 = 0.0
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dE/dx [a.u]

p-slice_1_25 particle: k_plus
RMS = 1.028 +0.013
frac_bkg1 = 0.00000 +0.00016  |gqg

] ml = 2.2500 + 0.0013
\ ml_bkg1 = 0.0

sg = 0.423 +£0.015
sg_bkg1 = 0.0

sl = 0.1845 = 0.0066
sl_bkg1 = 0.0
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dE/dx [a.u]

20

15

10

p-slice_1_26 particle: k_plus
RMS = 0.936 +0.013
frac_bkg1 = 0.00000 + 0.00021 019

ml = 2.3500 + 0.0053

ml_bkg1 = 0.0

[ I sg = 0.4950 + 0.0025
\ sg_bkg1l = 0.0

100 sl = 0.1524 + 0.0066

sl_bkg1 = 0.0
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dE/dx [a.u]

20

15

10

p-slice_1_27 particle: k_plus
RMS = 0.938 +0.015
frac_bkg1 = 0.00000 + 0.00027 022

2

-

3 120 H ml = 2.3500 + 0.0096
” ]

ml_bkg1 = 0.0

100 sg = 0.4950 + 0.0022
] ] sg_bkg1l = 0.0

80 sl = 0.1447 +0.0076

sl_bkg1 = 0.0
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dE/dx [a.u]

20
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10

80

60

p-slice_1_28 particle: k_plus
RMS = 0.985 +0.019

frac_bkg1 = 0.00000 + 0.00035 026
mil = 2.2000 * 0.0032
' ml_bkg1 = 0.0 -
| sg = 0.475 +0.016

] | sg_bkg1 = 0.0
11

sl = 0.1581 + 0.0067
sl_bkg1 = 0.0
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dE/dx [a.u]
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p-slice_1_29 particle: k_plus
RMS = 1.011 £ 0.023

frac_bkg1 = 0.00000 + 0.00050 032
ml = 2.2000 *+ 0.0086
ml_bkg1 = 0.0

sg = 0.5350 +0.0030
) sg_bkg1l = 0.0

sl = 0.1411 £ 0.0070
sl_bkg1 = 0.0
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